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QUESTION 1

A customer recently set up Async Replication between Site A and Site B. The customer wants to conduct a planned
failover and clicks Activate on Site B. The customer then runs the following command on Site A: ncli pd 

deactivate_and__destroy_vms name=. 

What does this do to the customer environment? 

A. VMs get deleted from Site B and the protection domain is now Active. 

B. VMs are powered off on Site A and must be manually powered on at Site B. 

C. VMs get deleted from Site A and the protection domain is no longer active. 

D. Customer must then manually power off VMs at Site A and power them on at Site B. 

Correct Answer: C 

 

 

QUESTION 2

An administrator is monitoring the Nutanix v5.15-based AOS cluster performance logs and notices that a SQL server
VM is greatly exceeding its intended maximum IOPS. The administrator has confirmed that a QoS policy was previously
created for the group of VMs this server is a member of. 

What are two reasons that this VM would exceed its maximum configured IOPS from the QoS Policy? (Choose two.) 

A. The VM is missing the required snapshot needed to implement the QoS Policy. 

B. The VM was not created as an AFS virtual machine. 

C. The SQL Server VM has volume groups attached. 

D. It was cloned from another SQL Server VM that was a member of the QoS Policy. 

Correct Answer: BC 

 

QUESTION 3

An administrator needs to make sure an RF2 cluster can survive a complete rack failure without negatively effecting
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workload performance. The current cluster configuration consists of the following: 

30 nodes: distributed 10 nodes per rack across three 42U rack 

Each nodes is configured with 40TB usable storage all flash (Cluster Total 1.2 PB Usable) 

Current cluster utilization is 900TB storage 

Which configuration changes should be made to make sure that the cluster meets the requirements? 

A. Expanse the cluster by adding 3 additional nodes per rack, 9 nodes total. 

B. Expanse the cluster by adding 2 additional nodes per rack, 6 nodes total. 

C. Expanse the cluster by adding 9 nodes to a new 42U rack 

D. Expanse the cluster by adding 8 nodes to a new 42U rack 

Correct Answer: A 

 

 

QUESTION 4

An administrator recently added VLAN 205 CRM in Prism Element. The workloads attached to the associated NICs are
unable to establish network connectivity. 

Which Layer 2 protocol allows the administrator to troubleshoot this issue from Prism Element? 

A. HDLC 

B. SUP 

C. LACP 

D. LLDP 

Correct Answer: D 

Switch information on Nutanix AHV 

Managing and troubleshooting virtual guests\\' network connectivity issues is quite difficult, if you do not have right
information about upstream switches. It is crucial to understand how Nutanix hosts are connected, hosting switch
name, 

location, switch port number. Nutanix AHV leverages OVS (Open VSwitch) to manage AHV hosts and Guest OS
network connectivity. OVS can use LLDP (Link Layer Discovery Protocol) to pull information from physical switches.
LLDP is 

automatically enabled on Nutanix AHV. To have LLDP discovery working you have to enable it on the network port
switches as well. Nutanix AHV will automatically pull switch information and present it in the Prism. 

In Prism Element, on main dashboard click on Home -> Network 
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QUESTION 5

An administrator needs to deploy an application with a large amount of data connected via Nutanix Volumes. 

Which two actions should the administrator take when designing the Volume Group? (Choose two.) 

A. Use multiple subnets for iSCSI traffic 

B. Enable RSS (Receive Side Scaling) 

C. Enable thick provisioning on the Volume Group(s) 

D. Distribute workload across multiple virtual disks 

Correct Answer: BD 
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